KCC| KCC Co, Ltd. KP125/160A series

—

20l B AR

KP125/160A series

SR
HA7|E
o U8 RO HRIC(2R0|SF)UUCL I
© 125/160kgf/cii€0|0 LiZ @20 Ol @80 KP140H
72| thS 7hsELC
® ZHAIL{ZH0[ Z0[otT] £A9{2|2f ZH]O| SIELICE.
© QB3| 4= KP140HSeF SU5I0] 9|0 KP210H
oj2{ g ct, =S/YRE
KPC70/140H
= A =
AT S KPC210H
KTC70HP
KP125A [ J[ JSD[@J s(zo)( JC U ) -
® ® @ ® KP140HS
HTC
ORNEIES @ A2z ® M THLAL
KP125A H2C 125kgf/cn TFHEA| EQ 4 7|1& LEAF KP125/160A
KP125A W TS 125kgf/cr 20 @20 2= 2C LA (BR)
H2E . 25 @25 N 2C 4LA}
KP160A (Gerg) 160kgf/cr = 75> KP35R
% KP160AE ¥ZE3 A|2t0] ST Ct 40 @40
>0 050 @ 2EALI E2 KH
o ggg fEd| @d [2gH| =9
772 | D-Z72K | Y59A | D-Y59AK
@mZzAA 773 | D-Z73K | Y7PK | D-Y7PK
s 22 ® A2l s (mm) 776 | D-Z76K | Y59B | D-Y59BK
e LEY P3|E (HF) [EZ HEUY BEEEE 780 | D-Z80K
2 et 18 220 782 | D-Z82K
925 50 % A913] S2150) 2B
@32 10 15 20 X é;““"%_l' LH [‘IO] 13 22 PAG % in__‘L 6}@!*'
040 | 25,30, 40, 50 2.
@ AMes 250 i
ois | 2= 063 o == TS
H ;(l,&“_H;g @80 - _‘?_7|§ 27:
: 5 5 SzAC 20l X A2 A0 2 222 HE2 HASI0 FAHAIL. S 17
=3 5+ 2 HOoZ| A
e gy = RRORASH i om e 257t xe g et iR

www.kccpr.com - 85



KCC] Kcc Co., Ltd.

AOAAES (F)

KP125/160A series

o)
AHE
Al KP125A KP160A
AzIg WZE (mm) 020, 925, @32, ®40, @50, @63, @80
2 DALR U 125kgf/ari (12.8MPa) 160kgf/cri (16.3MPa)
Lt 188kgf/ari (19.2MPa) 240kgf/cri (24.5MPa)
2| A2 E U 3kgf/i (0.31MPa)
AFE 4= e 8~100mm/s
ANELE #e -10 ~ 70
NERE AB2Y 2SR
LIAtZ 2} KS 25
HES 22t 0~+0.8mm
=2z
SR
S5 H2E 9l 1 kg
AN E
%ﬂ LH@ __EEL(mm) i_/'\_Llél,
5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 |FMFA
@20 | 029 | 028 | 030 | 032 | 035 | 037 | 039 | 041 | 043 | 045 | 002
@25 | 041 | 040 | 043 | 045 | 048 | 051 | 054 | 056 | 059 | 062 | 003
@32 | 068 | 072 | 077 | 081 | 086 | 090 | 094 | 099 | 103 | 108 | 005
HEEH @40 | 090 | 095 | 101 | 107 | 112 | 118 | 124 | 129 | 135 | 141 | 0.10
@50 | 135 | 143 | 150 | 158 | 165 | 173 | 181 | 18 | 196 | 203 | 0.8
@63 | 210 | 221 | 231 | 242 | 252 | 263 | 274 | 284 | 295 | 305 | 040
@80 | 387 | 402 | 418 | 434 | 449 | 465 | 481 | 49 | 512 | 528 | 076
@20 | 030 | 029 | 031 | 033 | 036 | 038 | 040 | 042 | 044 | 046 | 002
@25 | 042 | 041 | 044 | 046 | 049 | 052 | 055 | 057 | 060 | 063 | 003
o Aoz 32 | 070 | 075 | 080 | 084 | 089 | 093 | 098 | 1.02 | 107 | 111 | 005
$;ng' |40 | 093 099 | 105 | 111 | 116 | 122 | 128 | 133 | 139 | 145 | 0.0
e @50 | 114 | 149 | 157 | 164 | 172 | 179 | 187 | 194 | 202 | 209 | 018
@63 | 220 | 230 | 240 | 251 | 261 | 272 | 282 | 293 | 303 | 314 | 040
@80 | 398 | 413 | 428 | 444 | 460 | 475 | 491 | 507 | 522 | 538 | 076
=5 I=E £9l < kg
8| Uz Z=={mm) Lt
5 10 | 15 | 20 | 25 | 30 | 35 | 40 45 | 50 |*/MF
@20 | 040 | 040 | 043 | 045 | 048 | 050 | 053 | 055 | 058 | 060 | 004
@25 | 057 | 056 | 059 | 062 | 065 | 070 | 072 | 075 | 078 | 081 | 006
@32 | 106 | 111 | 117 | 122 | 128 | 133 | 139 | 144 | 150 | 155 | 0.10
223 @40 | 137 | 144 | 151 | 158 | 165 | 172 | 179 | 186 | 193 | 200 | 020
@50 | 200 | 209 | 219 | 229 | 239 | 249 | 259 | 269 | 279 | 289 | 036
@63 | 303 | 317 | 332 | 346 | 361 | 375 | 390 | 404 | 419 | 433 | 080
@80 | 558 | 579 | 601 | 623 | 644 | 666 | 688 | 709 | 731 | 753 | 152
@20 | 040 | 041 | 044 | 046 | 048 | 051 | 053 | 056 | 058 | 061 | 004
@25 | 058 | 056 | 060 | 063 | 066 | 069 | 072 | 076 | 079 | 082 | 006
@32 109 | 114 [ 119 | 125 | 130 | 136 | 141 | 147 | 152 | 158 | 0.10
Q& A9z
e @40 | 139 | 146 | 153 | 160 | 167 | 174 | 181 | 188 | 195 | 202 | 020
2245
@50 | 202 | 212 | 222 | 232 | 242 | 252 | 261 | 271 | 281 | 291 | 036
@63 | 305 | 320 | 334 | 349 | 363 | 378 | 392 | 407 | 421 | 435 | 080
@80 | 560 | 582 | 603 | 625 | 647 | 669 | 690 | 712 | 734 | 755 | 152

- 86 www.kcepr.com

U205 B AR



KCC] Kcc Co., Ltd. ¢

A O A A HZ(2) P125A series
U2 0} uHy AR

ez

KP140H

KLEARIX EX

KP210H

KPC70/140H

KPC210H

KTC70HP

KP140HS

HTC

KP125/160A

KP35R

KH

rz I
fol D.ln
o
[>
[m

=3 A e

1 TUBE A2014 1

7 STEEL BALL SUJ2 2

8 ROD COVER C3604

13 ROD SMA5C 1
17.X PISTON 575304 1
17.Y MAGNET HOLDER $TS304 1

21 SET SCREW SCM435 3

22 SHIM 3604 1

I 2|AE
s 3.1 33 1 12.1 12.4 16 18 20.1 204
O-RING FOR O-RING FOR PISTON
=y
=y e B.U.R DUSTSEAL |ROD PACKING  B.UR e MAGNET | RPN | WEARRING
. SINTERD | URETHANE
2 NBR PTFE NBR NBR PTFE NBR e, | POLYKETON
G 1 1 1 1 1 1 1 1 1
20 18-518 FORS18 SER-12 NMY-12 | @12x16x1.2t | 1B-S8  @19x@14x3.5t  PSO-20 20x17x2t
25 185224 | FORS22.4 | SER-14 NMY-14 | @14x18x1.2t | 1B-S10 | @24x@18x3t  PSO-25 25x22x2t
) ) NMY-18(KP1254) . ]

32 18-529 FOR 529 BH-18 N eon | 018x22x12t | 185125 |0315:@22:3t  PSO-32 32x29x3t
40 18-G35 FOR G35 LBH-22 USH-22 | FORUSH-22 |  1B-S18  ©39.5x30x3t | PSQ-40 40x37x3t
50 1B-G45 FOR G45 LBH-28 USH-28 | FORUSH-28 |  1B-524  (49.5x38x3t|  PSQ-50 50x47x41
63 1B-G58 FOR G58 LBH-35 USH-35 | FORUSH-35 | 1B-528 | @62.5x@48x3t  PSQ-63 63x59x4t
80 18-G75 FOR G75 LBH-45 USH-45 | FORUSH45 |  1B-S36  (79.5x@68x3t  PSQ-80 80X76x5t

www.kccpr.com - 87



E tf,g,% Egz <L;C>]| KP125A series

o

U205 oy ARG

Q2|4+ E-KP125A (SD, W)

HRE(YLHAD) / W3 020 ~@80 LZE(LLIAD / LHE ©20 ~ @80
2—EE 2—EE
ey Am—— B——f———=F
E@ c—E - —— {E%& —Z—— —@w—g}
i — — == - — =
Y PL| Y Y
KK A
= - t tr——
" | e 0 |FET— e
MMI I )\ w— ——— N [E— MM
= — — | @0 @ | E— ——
4-FB C C
FGC DP BT W LL+STROKE NLL+STROKE WF+
ZJ+STROKE STROKE
HRE(LHAD) / W3 020 ~ 980 LZE (LAY UWE 020 ~ 980
2—EE 2—EE
Be——rf———H
= =
e =5
LS 1oL Y Y
NKK 2—NKK
E L L | . T
———— — w F—e———— 1 —%}
B Eam— ——= - ——=
4-FB C 4—FB C Ci
FG DP BT WE LL+STROKE FC DP BT AA _WH NLL+STROKE WF+ | AA
A ZJ+STROKE STROKE
£l mm
LH;O{'\E A |AA | BT C D | OE EE FB | FG KK LL | N | PL |NLL| MM NKK o7V | WF | Y Z)
@20 10| 15|54 | 6 | 10 | 044 | Rc(PT)1/8 | @5.5| @9.5 | M8x1.25 | 43 | 6 |10.5| 54 | @12 | M10x1.25 | O30 8 18 51
@25 | 12|18 |54 | 6 | 12 | O50 | Rc(PT)1/8 | @5.5| @9.5 | M10x1.5 | 45| 12 | 12 | 56 | @14 | M12x1.25 | 036 8 20.5 | 53
®32 (15|20 |65 | 7 | 14| 062 | Rc(PM1/4 | @66 | @11 | M12x1.75 |54 | 20 | 12 | 72 | @18 | M16x1.5 | 0047 | 10 28 64
@40 | 20| 20 | 86| 7 | 19| O70 | Rc(PT1/4 | @9 214 M16x2 55120 12 | 72 | @22 | M20x1.5 | O52 | 10 27 65
@50 | 24| 35 (10.8/ 8 | 24 080 | Rc(PT)1/4 | @11 | @17.5| M20x2.5 | 60 | 20 |12.5| 75 | @28 | M24x1.5 | O58 | 11 28 71
@63 | 33|45 | 13 | 9 | 30 | 094 | Rc(PT)1/4 | @14 | @20 M27x3 | 67 | 20 | 13 | 82 | @35 | M30x1.5 | 069 | 13 30 | 80
@80 | 36 | 60 [15.2| 14| 41 |O114| Rc(PT)3/8 | @16 | @23 | M30x3.5 | 78 | 30 | 18 | 95 | @45 | M39x15 | 086 | 17 35 95

- 88 www.kcepr.com



KECS

KCC Co., Ltd.

N

=,
D
wn

A O AAEZ (F) 1 €
o= (= 4 A
20| bt A2l
QY x|4+E-KP125A 2l AEZ3H (SD)
H2C (LAY / WE @32 ~@80
2—EE
sHY st &
32 =101~200m {E@, A — -
@40,850,063,880 = 101~250mn 5
e — =
Y PL
KK _/_\..
L & 1L I T
N = -
oINS —
N2/p |
SE {7 777777 =]
| D_| 4-FB C
otV FG DP BT WF| LL+STROKE
=) ZJ+STROKE
H2C (£LHAD / WE @32 ~ 380
2—EE
o O A—
sHYSHA
@32 = 101~200m e —=—%
@40,050,063,080 = 101~250m e —
Y P
NKK
L L
,{,,f,J[vf ,,,,,,, ]
- e
C
WF| LL+STROKE
AA ZJ+STROKE
k2| - mm
LH07|§ Hy A | AA| BT | C D OE EE FB FG KK LL | N | PL | MM NKK OTv | WF Y Z)
?32 101~200] 15| 20 | 12 | 7 | 16 | 0062 |Rc(PT)1/4| ©6.6 @11 |M12x1.75 72|20 28| @18 | M16x15 | 047 | 10 | 28 | 82
@40 |101~250/20 | 20 | 16 | 7 | 20| 070 [Rc(PT)1/4| @9 | @14 | M16x2 |72 |20 27 | @22 | M20x1.5 | 052 | 10 | 27 | 82
@50 [101~250124 | 35 | 20 | 8 | 24 | 080 |[Rc(P)1/4| @11 |@17.5| M20x2.5 | 75| 20 | 28 | @28 | M24x1.5 | 0058 11 28 86
@63 101~250/33 | 45 24 | 9 | 30 | 094 Rc(PM)1/4 @14 | @20 M27x3 82 20| 30| @35 | M30x1.5 | J69 13 30 95
@80 101~250 36| 60 | 28 | 14 | 41 |O114/Rc(PT)3/8 @16 | @23 | M30x3.5 | 95| 30 | 35 | @45 | M39%x1.5 | 0086 17 35 112

www.Kkccpr.com

P

oy

KP140H

KP210H

KPC70/140H

KPC210H

KTC70HP

KP140HS

HTC

KP125/160A

KP35R

KH



KCC Co., Ltd.

L A O Al A H S (F) KP16OASGFIQ
or= |l HIS| A
ot 204 4 Al

Rz~ E-KP160A (SD)

HZ S (YLIAL / WE ©20 ~@80 2-EE

== =
Fed
=2 EE
-]
Y PL
A
T L=
H= =
MM 1 o\
== =k
4-FB C
FG OP BT WF| LL+STROKE
) ZJ+STROKE
Aot 160kgf/onf
HZE (LAY / WE ©20 ~ 280 2-EE
| ___J______i_'_
— __Q).FR__Z:;__ E
1= EE
L. -]
Y PL
:Eli_"______‘“ij:_
]
LL+STROKE
A2 160kgf/cn ZJ+STROKE
2 mm

LH:E A |AA|BT| C | D | OE B | G KK LL| N | PL| MM NKK OV WF| Y | Z

@20 | 10 | 15|54 6 | 10 044 Rc(PT)1/8 | @55 | @95 | M8x125 43 | 6 105 @12 M10x1.25 O30| 8 | 18 | 51

@25 | 12 | 18 | 54| 6 | 12 | 050 Re( @55 | @95  M10x15 | 45 | 12 | 12 | @14 | M12x1.25 | 036 8 | 205]| 53

@32 | 15 | 20 |65 7 | 14 062 Rc(PD1/4 ©66 ©11 |M12x1.75| 56 | 20 | 12 | @18 | M16x15 |047| 10 @ 28 | 66

@40 | 20 | 20 |86 7 | 19 070 Rc(PM1/4| @9 | @14 | M16x2 | 65 | 20 | 15 | @22 | M20x15 |@52 10 | 30 | 75

@50 | 24 | 35 [108 8 | 24 | 080 Rc(PD)1/4 | @11 |@17.5| M20x25 @ 70 | 20 |165| @28 | M24x15 |O58| 11 | 34 | 81

@63 33 | 45 | 13| 9 | 30 | 094 | Rc(P)1/4 | @14 | @20 | M27x3 | 77 | 20 | 18 @ @35 | M30x1.5 |069| 13 | 35 | 90

80 | 36 | 60 |152 14 41 0114 Rc(PT)3/8 @16 23 | M30x35 | 88 | 30 |255| @45 | M39x15 |086| 17 | 35 | 105

- 90 www.kcepr.com



KECS

KCC Co., Ltd.

A O AAHZ(FR) KP125A series
or2nl- Hta] A
SETH AT
QIHA2|4E-KP160A 2| AE233 (SD)
HZE (YLHAL / WE ©32 ~080 o_EE
= 4
Fode
0= 7
= =]
Y PL
A
B T L=
MM 1 o\
_ ]
= =7
4-FB C
FG OP BT WF LL+STROKE
ZJ+STROKE
HZE (LA / WE ©32 ~ 980
2—EE
B =
— -_Q.?R_-Z% E
0= ]
- —1]
Y PL
T
=]
.
-]
LL+STROKE
ZJ+STROKE
el i mm
LHo7|§ 3 A |AA|BT| C | D | OE EE FB | FG KK LL| N|PLIMM NKK |OTV|WF| Y | Z
32 | 101~200| 15|20 | 65| 7 | 14 | 062 |Rc(PT)1/4 ©6.6 | @11 |M12x1.75|72 |20 28 @18 M16x1.5 | 047 | 10 | 28 | 82
@40 | 101~250| 20 | 20 | 86| 7 | 19 | 070 |Rc(PT)1/4 | @9 | @14 | M16x2 |82 |20 30 @22 M20x1.5 052| 10 | 30 | 92
50 | 101~250 | 24 | 35 [10.8| 8 | 24 | 080 | Rc(PT)1/4 | @11 | ®17.5| M20x2.5 |85 | 20 | 34 | @28 M24x1.5 058 11 | 34 | 96
@63 | 101~250| 33 | 45 | 13 | 9 | 30 | 0094 | Rc(PM)1/4| @14 | @20 M27x3 |92 20|35 |@35| M30x1.5 | 069 | 13 35 | 105
@80 | 101~250| 36 | 60 [15.2| 14 | 41 |O114 | Rc(PT)3/8 | @16 | @23 | M30x3.5 |98 |30 |35 | @45 | M39x1.5 | 86| 17 35 | 115

www.Kkccpr.com

P

oy

KP140H

KP210H

KPC70/140H

KPC210H

KTC70HP

KP140HS

HTC

KP125/160A

KP35R

KH



